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what how
what how “ how+
+a an + " “ How beautiful amountain it is
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True/False
Yes/No
Whquestions MutipleChocie Cloze
Passage
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Sports and Games

The Lost Necklace SBI
—L 5 The Profes-sor And His Invention SBII—L.8

stage directions

Napoloen’'s Three
Questions SBI—L 15
Fore many days thispractice continued

Continents And Oceans SBI—L 16 People tend to
think that the ocean bottom is made up ofsmooth plains
Some peoplebe-lieve
think  that Peopleseemtothink It'susually believed that
/Itseemsthat Somethingis supposed to be

3%



3%
30—S50WPM

stady rate

75%

WPM

20—40WPM



brain

finger pointing
5

context clues

eye



remain

o O A W DN B

2
/

WPM

still

/

care

/

/

works

romm

/

/

dear






10 15

10 15

Pre——Ilistening

Listening

Intensive Listcning

Checking—up

Related activities



1 The T—F Question Technique

2 The Wh—Question Technique “ What is the stoty about ”
“ When and Where did the story take place

3 The Dictation Technique
“ There is a house behind

abigtree The door isopenand thewindow isopen too Init atablestands
in the middle And on the table there are two plates and three bowls §

“ ”

4 The Translation Technique
5 The Writing Technique
6 The Fill—in Technique
7 The Retelling Technique
8 The What—Is—It Technique
“ It has a round face and two legs But it has neither a nose
nor eyes nor a mouth nor ears It doesn’t move its position while it is

walking " “ What is it " “ A clock "
9 The Pass—word Technique 1—2

10 The Listening—to—Picture Technique

T—F—Question T. F.

11 Picture—Qrdering Technique

12 The Same—or—Different Technique

13 The Listen—and —Choose Technique “ Pic-ture —Qrdering
Technique”



Listening and Repeating Listening and Writing Listening and
Chececking

3.5 2.5 5

4
3 2 23 13
3 2 10 8









1
equalitarian equilibrate cquivocal
equal
sophis-m sophisticated sophomore phylosophy
soyh
2

anything provide

He was proud like anything.
It's provided for in the contract

curb curd curl curve

problem—blemish/loath—loathe— loathsome/weal th—weal —woe — share
weal and woe

verga—
diver-gence—convergence/over—cover—covert—overt—subvert/franchise—
enfranchise—disfranchise/holy-ness sacredness—saintlincss



2
3
4
5
book
1 book a ticket book
2 book shop book knowledge handbook
notebook book
3 booking office a bookish man book
ish

im— in— ir—

possible——impossible polite——impolite

textbook

—ing



visible——invisible correct——incorrect
regular——irregular recoverable——irrecover-able

sun son be— bee by——>buy our
—hour father——far-ther too——two

father mother brother sister pen
pencil pencil—box
3
teach work sing read er teacher
worker singer reader unfair —Tfair impossible
—possible
4
real adj really adv teachv ——teachern.
American ——Americanadj. Chinan ———Chineseadj.slowadj ——slowly
adv
5
come go down——up clever——foolish remember

—forget



learn——study
high——tall just now——a moment ago long——short open———close get
on——get off husband——wife teacher——student king——queen teach

——Ilearn
2
ice - snow-winter - skate
ice - water - steam solid- liquid-gas
3
cry /krai/
cry the
baby cry
hard
4
see “ ee”
“ ” Iook 13 Ooll
o see look
5

cough



Oun /& “ ”

laugh “au” /a /
113 ” Sp i .t
ball “al” /& [/ “o
monkey camal ‘o
cat
1
strike “ ”
2
head oo the head of letter “
” 13 ” head Of One! S C I ass 1 ” 1 ”
use one’s head * ” “ ”
lose one’'s head “ ” count head
13 ” pay 13 ”
You'l have to pay for what you' done pay
3 L ”
state
the three states of matter
He is in a poor state of health the New York
state We love our Party and state leader
state 13 ” 1 ” 13 ” 13 ”
study learn high tall beautiful

pretty handsome



finish complete “ 8 We're finished completed
the difficult work finish
complete

A Have you finished that book
B Have you completed that book

lose miss
lose “ o ”
miss
2
high
tall “ ” high tall
do make oo do make He often
does makes his test experiment in the lab
do make amodel plane
make make a shirt make sb a
cup of coffee do do one’s lessons
do one’s homework do the cooking doone’s
teeth doone’s hair do the work do repairs
do one’s duty
do favour do harm do shopping
make a face make a decision make an effor
make a mis-take make fire make friends
3
job work “ 8 job work
work job
A He asked for a job in his factory
B Dicken's first important job was as a neswspaper reporter
He does his job work seriously
4
1 rise raise “ "
rise raise “ ” rise
raise “ ”
The Sun rises in the eastin the morning “
” rise raise rise raise

The living standard of thd people has risen has been raised rapidly



in recent years
2 bex-ome ill fall ill het llbe

ill “ beill

His brother has been ill for three days
His brother has got become fallen ill for three days

3 want hope expect wish o
1
3 4

2

a sit stand walk climb jump run die live
lie laugh cry

b cat dog wolf deer sheep bear cow elephant
tiger lion monkey

c brown yellow red pink grey blue orange green

d foolise——wise black——white high——Ilow fat——thin
up——down above——be-low

e fair——unfair use——useful regu-lar——irregular

appear——disappear invent——in-ventor——invention observe——observer
——obser-vant——observation



sing singer breath breathe
often seldom glareat stare
at get tired getoff getalongwith getinto get

the habit of

+ing

1 My favourite sport is swimming
2 The situation is encouraging

1 2
working people working method
sleeping baby sleeping-car

Q

He began to work for the landiord at the age oftwelve.
He began to work for the landlord when he was twelve

v T

a After he finished his homework he took a rest
b  After finishing his homework he took a rest
¢ Having finished his homework he took a rest
a b .C
6



8 10

note
n v th
dove done

Spray

0

ay

10

A]

[+d

say day way

go hope home
0 m
mother some come
ay [ei]
pay ray may lay play



mouth[maub ]
hair[he +]
talk[t&:k] [ “ "]

sing[siR] [ “ ]

wife[waif] [ “ " 1
think[6 i1RK] [ “ "]
behind[bi’haind] L “ ” ]
Jjoke[d*ouk] [ “ " ]

bus[bA s] [ “ "]

gas[g$s] L ‘ "]
leave[li:Vv] [ “ " ]

3

| I e |
ol
[N

a- in on at to by of
with

atop

aloof

abreast

aloud

aright

ab-

abdicate

abscond

aberration

ablate

ad- at to

adapt

adaptable

add

adhesion



adsorb
adulate
ana-
anabaptism
anabatic
anabiosis
analeptic
analogic
analogize
analogous
analogue
anamnesis
4

millionaire -aire
suburban -an

“ ” “ ” “ ”

dormant dorm-
-ant
Henmoneinxub li He no
Hen —o n B A X —H —b i
aeronautics aere —naut —ics

anticarnivorous
anti—carni—vor—ous +



anti-
-0us

abactericidal agent a-gent
bactericidal
bacteri-cid-al
" bacteri “ " cid “ " al
” agent
{3 [ ] ”
7
1
2
3 4
8.
1127772235 112-777-2235
unselfishness
self-ish-ness
9
mother
grandfather —grandmother
father —mother
uncle [ J—aunt [ ]

-vor-

un-

father



son —daughter
brother —sister

man —woman

groom —bride
husband —wife

youth [
grandson

boy — little

schoolboy
schoolmaster

10

12

declare
declare

13

14

[ 1]

—qgranddaughter

—schoolgirl
—schoolmistress

say openly

awalking dictionary



15

book I have an English book A book
is a friend of mine There are some books in my school bag
16



17

18

19

20



I get up very early every day. |
dress wash and go out to do exercises. Then | have breakfast After breakfast
I go to work.

Lunch is at twelve After lunch | take a short rest In the afternoon
I read the newspaper in the library Then | play ball games.

After supper 1 often go for awalk In the evening I listen to the English
broadcast 1 go to bed at half past nine.

12



r—ea—ch n—i—ce br-o-ther

reach nice brother
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18 3
7 [R1[6 1[J]1[tr][dr][ts][dz] 20
15 5
[S10&10&:1[+:11#+] Dyu:]
[+] Wl 0]

name[neim] [ei] [eim] [neim]
5 c g st sk sp



23

a 10 5
[ei] ai [ei] ay [ei] a
tion [ei] a ble [ei] 5
a ste [ei] a nge [ei] ea [ei] eigh [ei]
ey [ei]
a [ei]
52 4 game[geim] lame[leim] name[neim] same[seim]
180 60—100
1
3 15 3 45
3 135
2
1
4—5



particularly[p+ tikjul+li]adv
p—a—r—t—i—c—u—Il—a—r—I—y

education

E—#F F-&F B=H FNF FhF

! } ! ! !
§E¢$§ ,Egi ?al:n: ) ﬁg’ education| | BEY
! ) ! ! !
3k 37 2—af 3 174
5
price[prais] order[ &:d+]

favourite[ feiv+rit]

freeway[ fri:wei]

1

Frice

2

order

3

favourite

4

ziant

5

freaway

1—5

i | =

b

Ez| =2

giant[ d*ai+nt]

- [FHEHE



15

15 force[f&:s] base[beis]
Limit[ Timit] rapid[’ r$pid] works[w+:ks] civil['sivl]
master['ma:st+] Russia['rA [ +] pulse[pA Is]
India[ indj] sense[sens] act[$kt] tower[ tau]
prove[pru:v] accept[+k'sept]
force
bgsg
Linit |- (] [ - F=%] =]
works
ciwil
master
Russic| [i8—#| [I=#| [F=# |- HH
pul=ze
India
Zense
act
tover |----—————|A=4| [32#] [F=24] [F=H]
accept
100 200

10% “ ”
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3
2

4
2500



He asked me not to go
He let me go at once.
He stopped me going to the station

+ +
+ + to
+ +
to
ask
tell want advise decide beg persuade let
make see watch have hear feel notice prevent enjoy mind
finish stop
phrase idiom
turn
turn against turndown turnon turn
off turnover turnout turn up
phrase idiom
30

50



Then as 1 ran along
the Blacksmith who was there reading the notice cried out to me
was  reading was  reading
there
there

—_ — — there reading






by



be
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one, won son, sun sell, cell buy bye;no know; too,
two piece peace; tire tyre; steal, steel;wait weight; way, weigh write,
right; week weak meet meat; wood, would where wear here hear flower,
flour practice, practise ect

eyes aiz] ice[ais];cause[k&:z] c] course[ké&:s]
heart[h%:::t],hard[h%: :d] free[fri ] Tlee[fli:]
advice[+dvais]advise[+dvaiz] etc ught, through  thorough; yellow



fellow follow wood food, blood; etc

home house family folks;arms army force troops official officer
gen-eral captain commander; opinion 1idea thoughts thinks animal
mammal  beast; works, plant facto ry mill; the majority of, the great
number of a good deal of etc.

1
We are now living happily.
We are now living a happy life

He is very healthy.
He i1s in good health.
I am sure that he will succeed
I am sure of his success.
2
I am busy now.
I am not free now.
May | borrow your pen
Can you lend me your pen
Everything here seems strange to me.
Nothing here seems familiar to me.
3

1 He can repair transistor radio.

A. make B. fix C. mend
2 Inside the pyramids there are long passages to the burial rooms.
A. roads B. streets
C. paths D. narrowways
3 Ten times ten is one hundred.
A. equal B. equals

C. equals to D. is equal to

1 He is equal to the task.

A. B. C. D.
2 The Weights of a clock make it go.
A. B. C. D.

3 Please make room for me.
A. B. C. D.



Can you get someone to copy this letter
of thanks to get sb to do sth
to get have sth+ to get sb sth +

Can you get someone to copy this letter of thanks
Can you get this letter of thanks copied

You had better

get the TV repaired
You had better not
get the TV turning
on all day.

“ ” 1

to be made of to be made from
to consist of to be formed of

A
The question that he asked
is easy to answer.
The question asked
by him is easy to answer.
The teacher who
is wearing glasses teachse
us English
The teacher
wearing with glasses teachse
us English

B

When he heard this,

he couldn’ thelplaughing.
hearing this,

he couldn’ t help laughing.
On hearing this,

he couldn’ t help laughing.
He was so excited

that he couldn’ t saya word.
He was too excited

to say anything.

When the meeting




was over, we went home.
The meeting(being) over,
we went home.
C
If your using your head,
you will find a way.
Use your head,
then you will find a way.
If the weather is fine,
we will start tomorrow,
Weather being fine,
we will start tomorrow.
3

“ Don’ t be late for school
boys and girls” said the teacher.
The teacher asked
the boys and girls not to
be late for school.
4
and or already yet,both- and neither nor
either or
She can sing and dance.
She can’ t sing or dance.
He has already finished his homework.
He has not finished his homework yet.
Both Li Ming and
liu Ying can do the work.
Neitner Li Ming nor
liu Ying can do the work.
EitherLi Ming or
liu Ying can’ t do the work.

He left here in 1981. - he has been away from here for five years. -
Five year have passed since he left here. - It is five years since he left



here - He left heve five years ago.

To learn english

well is not easy.

It is not easy to

learn English well.

It is not easy for

me to learn English well.

I don’ t think It is

easy to learn English well.
I don’ tthinkiteasy

to learn English well.

it
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o 01 A W

make

an answer, a promis, a holse,

a speech, a mistake, a journey,
faces, a sugges—tion, a decision,
make —~|a fire, the bed, tea,

progress, friends with, use of,
study of, up for, up one’ =
mind, out of, of,

from, into--

out

call cry, come, carry, bring, find,
get, give, go, hand, help, hold,

look, let,spit, speak, pick, work, — out
wear, point, set, break, shout, goall .

120—150



1 maths A fact B last C watch D around
2 sun A busy B rush C true D huge
3 order A doctor B word C ware D World
4 down A Tollow B south C below D throw
” maths a [$] fact a [$]
a last [%::] watch [&] around [+1
2 u sun u [A] rush
3
order or [& 1] A doctor B word D world or
[+:1 [+:1 C wark or ar [&::]
4 down ow [au]
A follownC belowD throw ow [au] B south
ou [au] B 3 4

it



Lu Xun was the most famous-the writers atthis time

A for B at C as D of
“ be famous for”
“ A « pr “ the most famous”
C of
2 MET

3

I reallydon’ twant togo to the party, but 1 don’ tseehowl can--it

A get back from B get out of

C get away D get off

“ get” “ get out of”
13 BH

4 " ” " ”
5

MET
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yes/No

who what

when

where



Fis

h generally live in water and are coldblooded __; therefore the whale
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( )
1 2 4

1 12

2 1

3 8.96 13.44

)
4 0.500
0.710
0.574
(0.500 ) (PdCI,)

Pdl, 0.180
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AU C.

i(9Fe FeCl, FeCl,

i()CH, =CH, CH,CHO

fCH ,CH ,OH
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CH,0H(CHOH),CHO
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OH) Cu(OH),

Cu(OH), Cu,0
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(Mn0,) KC10,

MnO,
2KCIO 2CKI| + 30, -
2
FeCl; Cu
2FeCl;+Cu=Cucl,+2FeCl,

CuCl, FeCl,
3
4

AICK;+3NH,- H,0=Al(OH)41 +3NH,CI  Al,04+2NaOH=2NaAlO,-H,0
2A1+2Na0H+2H,0=2NaA I 0,+3H, 1

Al (OH) 3+NaOH=NaA10,+2H,0

AL,Sz+6H,0=3H,S1 +2A1 (OH) !

2A13*+300,% +3H,0=2A1 (OH) 3¢ +3C0, 1
2A10,™+C0,+3H,0=2A1 (OH)4 4 +C0,%

2A1,0,  4AI+30,1

A120,+2Na0H=2NaAl0,+H,0

)
3CU+BHNO5( )=3Cu(NO5)o+4H,0+2N01

“ 38342”

3Cu+8HNO5( )=3Cu(N03),+4H,0+2NOt Cu+4HNO3( )=Cu(N03),+2H,0+2NOt
7

Fe?*+20H =Fe (OH), |
4Fe(OH),+2H,0+0,=4Fe(OH) 5!
8



AR co,”
3C0,° +2A13 +3H,0=2A1 (OH) 5 | +3C0, 1 Cuso,
Na,CO, 2Cu?*-C04% " +H,0-
Cu,(OH),CO51 +CO, 1 "

2Na,0,+2H,0=4Na0H+0, 1

A Na—O0—0—Na “ —0—0—"
Na—0—O0—Na— - Na—0—Na—I[0]

B Na,0+H,0— - 2NaOH

9 2Na,0,+2H,0=4Na0h+0, 1

10

2 Cu(OH), 0.5
2Cu(OH) ,— — Cu,0+2H,0+[0]  CH5COH+[0]
— . CH,COOH CHaCOH+2Cu(OH) ) — — Cu,0 |
+2H,0+CH,COOH ()
“ 12121”

NaOH+( ) ——Cu(OH),+()

cucl,



CuS0,Cu(NO3),

NaCl NaNO, Na,SO,

O+CuCl,——(O+NaCl  ()+CuS0,——()+BaS0,
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2 (RSO,
RSO, 7H,0)
[ (3.15 )
2.15 )
«C )
@
3.15 142.15% 250 2.15% 75%
() =1.5375 =1.6125
RSO,7H,0— RS0, ——  7H,0
222+X 96+X 126
( )
3.15 1.6125=(222+x) 126 1.5375 1.6125=(96+X) 126
x=24.14C / )
2 24.12
5
1.12
( ) 3 10.65
Fe?* ( cl, Fe>* )
( Fe,03- H,0 )
[ 1
C )
Fe @ mio, Fe(NO,) ,
————————— NO:1.12 F
Fey0; * HO "FE'_(PED;IT;
DFe " @& 10,657 e
ez Fe Cl,
C )
cl, () Fe’ (2Fe?*+Cly-Fe,,+2C7)  10.65/71
x 2=0.3( )

() Fre Fe®' Fe



(Fe-2Fe®*=3Fe®) Fe®* =2/3x 0.3=0.2( )Fe
0.3=0.1( )
Fe =1.12/22.4=0.05( )[ Fe NO
Fe,05- Hy0 =(0.2-0.05)x 1/2=0.075( )
3+(0.1+0.05)x 56+0.075x 178=24.75( )
)
1
m
n w
[ ] ”
Cu0 (m-n) Cu0
X Cu0 ()
2
8.15
0.784
[ 1 0.784
” 0.784
14..3%( )
3
5.6 Ca0 1944 33
[ ] Ca0+H,0=Ca(0H),
ca(OH),
5.6 Ca0 1.8 7.4
ca(OH), 0.15 7.4

(194.4-1.8)=192.6

1/3x
=1 1]

Ca(0H),
Ca(OH), 33

Ca(OH),



B 10 10 C 6.5 6.5 D 0.1

OMH2H =2M +Hy 1 MA2HT-MZ*+H, 1 2M+6H =203 +3H 1

( )

H 0.1x 1x 2=0.2( ) A
1, 11, 11, 3
R <0. , — . -
2420224302 27 2

B 19. 2>02 10 >02
24 65 '
65, 65,
- >0.2, — =0.
C 24202,65202
Hy D
Hy
B C
MW 60.5 (
22.4 ( )
W M M
W 0.5
[ 1 (O
22.4
PH=2
PH

PH

100ml
Al
0.1

1.1



PH

PH
10 PH 2 3 PH 3
PH
PH PH <8
( 100 ) PH PH PH
4
[ 1
(
)
5
7% )
A 48.6% B 51% C 93% D
D
100 X (100-X)
X’ i 100% + (100- X)~ ﬁ 100%
60 88
CnHZnOZ
12n
2n=6 1 6% 7%=42%
100%-7%-45%=51% B
6
CHO 10
32 1 CO, H,0 4 0,
KMnO,4 Na,CO5 0.1
16 Br, 0.2 2.24



CyHyO, « D

7
FeCl;  CuCl, H,S
0.2

0.4 FeCl;  CuCl,
FeCl;  CuCl, H,S

2FeCl53+H,S=2HCI-St +2FeCl, (1)

X X X X X

2 2

CUCH,+H,S=CuS| +2HCL, (2)
Y oY Y2y

0.2 L S CuS
; =X u
> y
}X+Y-02
2 - -
0.4
2HCI+Fe=FeCl,+H,1  (3)
(3) 2HCI D) )
HCI (x+2y)
X+2 E k-2
y > y
0.4 FeCl, FeCl,
1 1
-5 (xt2y) D) X FeCl, -E (X+2y)+x

1
-E (x+2y)+x=0.4

x+2y +x=04
x=0.2 (FeCly)



y=0.1 (CuCl,)
0.2 FeCl; 0.1 CuCl,

8
A B CD E 6
65
/R
E—D
A 6 6
65
+H
Y% %33® +HX = +[S]|-2 AN
+H_O +H_O
_— YaYa B® Y4 Ys B®
65
E
A C B ( 47
46 50 65)
13
1
AB©)
BIAIOIOIO)
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Zn+HCI B MnO,+HCI
NH3+HCI D Ca(Cl0),+HCI
Fe+HCI
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H-S

10

11

La

La(OH) 5

(A)Lay05+HCI
(C)La(OH)4+HCI
(E)La+Cl,

12

13

)
(A)H,S €O, CO

(B)NH; N, H,
(©)0, H, NO
(D)CHzH, H, O,
(E)HCI  NH; 0,

1-3

LaCl;

)

La(NO3)3

La-Cl,
(B)LatHCI
(D)NaCl+La(OH)4

H,S0,

La,05



1

11 16 A B
(@AB  (b)A,B  (c)AB, (d)A,Bs
11 16 Na S
()
2
1 0.010 7/
(A)8(B)7(C)6
(D)6.9
()
3
A B
A B
gg A
B
BE
@ A
) A
(©) A B
(d A B
A B
A B A B
4
( )
MXOy 22.54
Xy

(N2 3(B)L 1(C)3 2
()4 3(E)3 4
( )
1(E)3 4(A)2 3
(B) MO

* 100% = 22.54%
(16 +55) ° °

)

Na,S A,B

pH

©

(©)3 2(D)4 3(B)1



2C1,+2Fe,+Bry=2Fe;+4CI+Br,

Cl

® (B
©) O ®)
©

( 1.4 /7 %
( 1.2 /%) 42
(A)35 (B)10 (©)25 (D)20

1 (1.4-1.2)
(47-42) 1 (1.4-1.2)=V (47-42) V=25
©

X X Y ()
(a)C0  C0,(b)0, CO(c)CO, CO(d)0, CO,

X #® Y %L%® X

CO CO, O, X CO, Y CO,
7
5.6
)
(8)Zn(b)Cu(c)Mg(d)Ag
5.6
Zn Mg +2
MC ) —- 2
5.6 0.2
Y ( ) 2
2" 56
>0.2 X 56 Mg
X
8 ( )
FeBr,

Cl,+2Br-=2Cl +Br,

Br Cl,

Cl2+2Fe**=2Fe®*-2C1
2Fe,+4Br +3C1,=2Fe>*+2Br,+6C1"

47

[C]

0.2

)

o

22.54
22.54

0.2

Fe??



100 0.6 / 0.4 /
(A)pH=2
(B)pH=0.2
© OH =1x108 /
® H =0.2 /

(E)pH=0.1
H =0.1 / )
H" =0.1 / pH=1 *? B 6
OH =1x 1078 7
1
1 CaC,80%

CaCy+2H,0 - Ca(OH) ,+C,H,

C,H, H,O%% ¥® CH,CHO
2CH,CHO O, %%%® 2CH,00H
CH,CHO H, %%® C,H.0H

H,SO,
CH,COOH  C,H,OH——2—*CH,CO0C,H; +H,0

CaC,80 X
2CaC, - CH4COOC,CHs
2% 64 88
Xx 80 1
(2x 64) (Xx 80 )=88 1
1 CaC,80 1.82



2.8 N,0,
X N,0,
N,0,4 ® 2NO,
n 0
n-x 2X
_n _2
n- x+2x 28
X 0.1n
04n
N,O, x 100 =40
N50y4 X
100  4-2( )
X%  2.8-2( )
X =40
3
59 ( 1.1 /mD) 98% (
/ml)  15% ( 1.1 /mD
95%
BiSHERE TEERIETELL
57 44 (SRS
T
\zz@f
/59\
15 =9
98 15% 44 39
44 39
—:—»2:3
184" 11
98  H,S0, 15% H,S0, 2 3
4
pH=3 100 pH
C
H*12 10 3)?2 10°©
oo HTP (09 "

K K K

1.84



Cy

=10"4(M)

©

Hy  CgHg

10°
C,=———WM
S0 kM)
M=K ek 0
- B 100" K
pH=-1g10™*=4
pH
pH= pH+1gM/n(n )
PH
1
N _ _
(A)NH,HCO, (B) (NH,),S0,
(C)NH,4NO, (D)CO(NH,),
N
N
14 14 14 14
A % B & “T20 PTmo
® ®»
N
2
co,
250 (A)5 1 3(B)L 2 5()5 1
5(0)2 1 5
2
8
®
3
2H,( )+0,( )=2H,0( )+571.6
CaHg( )+50,( )=3C0,( )+4H,0( )+2220.0
5mol 3847
(A1 3(B)3 1(C)L 4(D)L 1
xmol ymol

X+y=5
285.8x+2220.0y=3847
x=3.75 y=1.25



448

()

3847

A 112
D 448

cS,

(CS2)

B 224 C
E 201.6

CO,( )+2S80,( )

A NH,NOg

B (NH,),S0,

40mICO
36ml

(A)8nl  (B)4ml  (C)36ml

2CO 0,——2CO0,

0,
7

co
®

(®)

336

448

(D)
C  NH,HCO,

o, 0,
02
(D)10ml

3847

®» ©
®

®» © O (®)

Co,

D CO(NH,),

E>SC D E

Q)

co

S0,

0.228 CS,
co,
CS,( )+30,( ),
0, 448
D
E NH,CI
D>A>B
D E
D
40-36=4(ml)



©

1 (Si0,)

)
A 52% B 65%C 72%D.78%E 85%
8
0.4
S0, H,S0, HyS0,  20mI0.50MNaOH

(A)18% (B)46% (C)53% (D)73  (E)40

S-S, -H,SO, - 2NaOH
32 2mol
X 0.5x 20x 10° =0.01(mol)

32”7 001
X=——F7—=016

2
016
g 04 — 0,
04 100% = 40%

B

3.69

(A)3.6g (B)3.93g (C)3.49g (D)3.70g

99 19 3.69
Mgl  Hpt
24 22
_— 2 —_—
X 32
©
10
pH>8
(A) pH=5 100
(B)10mI0.2N 9.99ml10.2N  NaOH
(C)500ml 0.05M  H,S0,1ml
(D)pH=12  NaOH 100
(E)pH=8  KOH 100
A E
Q) ® ©
(E)pH=8 pH

pH

8

0.76

S0,

*» ®
©)



11
NaCl CaClz AICI3
AgNO,
(M1 1 1(B)1 2 3(0)3 2 1
(D)6 3 2(B)
Ag*+C17=AgCl ¢
1mol 1mol
NaCl Mvx 1 M;Vox 1 M;MV/Vo
CaCl, Mvx 1 M,Vox 2 M,=MV/2Vo
AICI; Mvx 1 MjVox 3 Mg=MV/3Vo
M, M, M,=1 % -%=6

®
12
NO 0,

1,3 .1 .3
A)= (B)> (C)= (D)=
A7 B)7 @g Oy

2NO+0,=2N0,
3NO,+H,0=2HNO4+NO

NO
4NO+30,-2H,0=4HNO,
NO O,
1 1 0 !
2 4
©
1 ( )
FeS,45 4000
X

FeS,

Cl

©| -



350C
4FeS, +110,=— 2Fe,0, -85S0,

450-500°C
8S0, +40, WBSC%

850,+8H,0=8H,50,
4FeS, 850, 8S0; 8H,S0

FeS, 2H,S0,
120 196

4000x 45% X
X=294( )

34 2

CxHyO0z
C HO
X y z

6x y 8z
2CxHy0z+90, — XCO,+yH,0

2Z+18

Ix+y+z=12
L6x +y +82=34
12z +18=2x+y

x=3 y=8 z=1
C5Hg0

0.1
7.2

CO, C H,0 2H
44 1mol 18 2mol

17.6  xmol 7.2 ymol
x=0.4(mol) y=0.8(mol)

12

2X+y

x y=0.4 0.8-1 2

17.6



nH 2nC

CmHn CaHb

0.1m+0.1a=0.4m+a=4
0.1n+0.1b=0.8n+b=8

ng=2nC+2  ny=2nC
m= 2 az 2

m=2 a=2
ny=2nc-2
ng 2nC
ng 2nC

S— ( ng=2nC
N

n, +
Cnﬁtnh2+ah+_%igoz® n,CO, +(n, +1H,0

44n;x 0.1+44n,x 0.1=17.6
18(ny+1)x 0.1+18(n,-1)x 0.1=7.2

ny+ny,=4
=1 16x 0.1=1.6( )
n,=3 40% 0.1=4( )
ny=2 30x 0.1=3( )
ny=2 26x 0.1=2.6( )
4 ( )
10 A B X
A B 7 X 27C 0.5
22 A B
X 7 VO
y B n
PVTo 05" 123" 273
VO = =
PoT PoTo
=5.6( )
2247 7
=————=28

! 56



My=2x 22=44

A+B=28 Y
A+nB=44 (@)
B(n-1)=16
B=16 @O @ A=12 A B
y
n B
10
n=1 B=8
n=2 B=16 10
n=3 B=8 10
1
)
CaCO;  MgCO4
Ca Mg
CaCO,——Ca0 CO,!
MgCO,=—=MgO CO,
Ca Mg Ca0
CaCO;  MgCO4
Co, 44
1 Ca0 x
56x+40(1-x)=44
x=0.25( )
1-x=1-0.25=0.75( )
Ca Mg 0.25 0.75=1 3

(

Cu0)

MgO



Cu(NO3),

1 Cu(NOg),x Cu (1-x)

2Cu(NO,), ——2CuO 4NO,1 0,1

2% 188

X 216
27X
47

2Cu O,=—2Cu

2% 64 32
4
2 _L-x % = 0.3032
47 4 =0303( )
3032
Cu(NO,),% = % * 100% = 30.32%
3
4 ()
1 Cu(NO,),
(1-X)

2Cu+0O,==2Cu0

2Cu(NO,), ——2CuO+4NO,1 +0,1

Cu0 =Cu +Cu(NO3),
1_x 1-X
80 188 64
X= 0.3032( )
0.3032

Cu(NO;),% = ———" 100=3032

4

120
CxHy



2CxHy + (2x + %)02 _. 2XCO, +yH,0( )

2+ 2x+ % =2x
y=4
CyHy
CH,
C,H,
C3Hy
= CHEE AT AR AV ER AR
B 17
HYsEillint:raly (BT AR AR EF)
Fz =
EES R (1% BT 340N a0 RE )
EEEen

1



pH

pH

pH

pH=2

pH

(

100 )

pH



80 pH 7
H+
(H,0)0 H™+0H")
>10"'mol/L  pH<7
3
pH=2
pH
(1990 38
pH pH
pH
pH
4
NaOH KMno, Cuso,
€)) NaOH
@) KMnO,
(€)) Cuso,
)} Cu(NO3), Cuso,
[ 1 H,S  CoH,
NaOH
KMnO,
cu’t pp*t
Cuso,
€))
@)
(©)
)

80

(

OH™ =10""mol/L

( 100 )

pH
pH

HyS  PH,
H,S

NaOH
KMnO,

Cuso,

pH

HO™



H,S0,

€y

@

©)

[ 1(1)1/4(2)SS0, H,S0,
3)2 1

[ 1 S0,

@) S0,

S0,

6

0.1

D
2Cu(NO,),=2CuO +4NO,1 +0,1

ANO,+0,+2H,0=4HNO,

N, 0, 4 1
[ 1
7
( "
” )
0.1mol- L7AI,(S0,); 100
0.5mol- L~ NaOH
[ ]9 130
@ NaOH
AP +30H"=A1 (OH) %1
3 78
0.5V 1.1v=90(ml)
) NaOH
AI¥*+30H-=A1 (OH), 4
1 3 1

0.02 0.5V,  0.02
V,=120(ml)

S0,

S0,

H,S0,

HNO,

Cu(No,),

1.17

S S0,



AL(OH), 1.17/78=0.015(mol)
AL(OH),

0.02-0.015=0.005(mol)
A1 (OH)3+0H-=A10,+2H,0

1 1
0.005 0.5V,
V,=10(nl)
Vy#+V,=130(nl)
[ 1 AL(OH)3
1 “ ”
2
25 20 1/
1.5
20 1/ 1.5 1/

NaOH

25



30 41.33 32 29 31

2
4
o2 Om
0, v
Om _V( )
m
Om
V  bo, v
1
0, 0, >V
1
D m
()n1=====25()2
V Dy
2
My-v
2
m
—-V==V
2
5
1.5 40 ( 1.30 /%

1.5x 1000x
40 x1.30 1.3x 40%x 1.5x 1000 1.5x 1000x 1.30x 40



170
100.8 ()

21.05
1 HyS X HyS

2H,S 0,———2S 2H,0

2H,S+30, ———2S0, +2H,0
2 3
X 32X

1/2Y+3/2X=100.8 (1)
170
X+Y=—x 224 2

@ @ X=44.8( )Y=67.2( )
448
H.S 248+ 072 100 =40
1
2H,S 30,————2H,0 2SO0,
H,S === SO, (

170
=(100.8+—"x 224)x 2105 =448( )



50  0.5M  K,S0,
K+
50 05" 2+25° 1
= 1M
50+ 20 (M)
K+
m
8 1 ”
‘ " (
( )
12.0 1
1 1.04
9 “ ”

25

M

CnHansz

KCI

( 100 )

CmCym

=2x 12.0=24
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(1192—1868 )

525



1 ”ow ”ow

16
8
9
( )~
( )~ ( )~ ( )
10
1840 1919 - " 80
" ” - " 1914
9 1916 2 7
" " 1917 3 10 ( 2 25 ) 1917

11 7 ( 10 25 ) “ -



—1917
11

11 7
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475 1840 2000
1783
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—1937 1937—1945

@

(1949—1919)=50
@
359
€))
1912 “ ”

618 1868
594

220 1940 )
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1624—1662 38

(1919—1840)—
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(
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